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Name: __________________________________



1
What is the sum of [image: image1.png]_3x2 —Tx+ 9



 and [image: image2.png]_5x2 4 6x—4



?

2
The sum of [image: image3.png]3x2 + 5x— 6



 and [image: image4.png]x4+ 3x+9



 is

3
The sum of [image: image5.png]8122 — 3+ 10



 and [image: image6.png]3% — 6n—7



 is

4
The sum of [image: image7.png]3x2 4 4x—2



 and [image: image8.png]5x+3



 is

5
What is the sum of [image: image9.png]3x+7



 and [image: image10.png]3x2 + 5x—9



?

6
What is the sum of [image: image11.png]


 and [image: image12.png]


?

7
The sum of [image: image13.png]3x2 + x4+ 8



 and [image: image14.png]


 can be expressed as

8
The sum of  [image: image15.png]8x2 — x+ 4



 and [image: image16.png]N



 is

9
The sum of [image: image17.png]4x3 + 6x2 + 2x—3



 and [image: image18.png]33+ 3x2 - 5x-5



 is

10
The expression [image: image19.png][3x’+4x—3]+z(11—5x)



 is equivalent to

11
Which expression is equivalent to [image: image20.png]2(x° - 1)+ 3x(x - 4)



?

12
Which polynomial is twice the sum of [image: image21.png]axd — x4 1



 and [image: image22.png]—6xi+x-4



?

13
If [image: image23.png]y=3x +x°-5



 and [image: image24.png]


, which polynomial is equivalent to [image: image25.png]


?

14
What is the sum of  [image: image26.png]| R



 and [image: image27.png]2d



 expressed in simplest form?

15
The expression [image: image28.png]


 is equivalent to

16
The expression [image: image29.png]=l

ol



 is equivalent to

1
ANS:


[image: image30.png]_8x2—x+5




REF:
011213ia

2
ANS:


[image: image31.png]2x2 + 8x+ 3




REF:
081205ia

3
ANS:


[image: image32.png]5n2 — 0+ 3




REF:
081302ia

4
ANS:


[image: image33.png]axd — x4 1




REF:
010108a

5
ANS:


[image: image34.png]4x 4 2x-2




REF:
060805a

6
ANS:


[image: image35.png]



REF:
080807a

7
ANS:


[image: image36.png]



REF:
069904a

8
ANS:


[image: image37.png]



REF:
080710a

9
ANS:


[image: image38.png]7% + 9x2 - 3x— 8




REF:
061003ia

10
ANS:


[image: image39.png]3x2 — 6x+ 14




[image: image40.png](32 +4x-8) + 22- 102 = 35" 6+ 14




REF:
082302ai

11
ANS:


[image: image41.png]5x% - 12x-2




[image: image42.png]2% — 1)+ 3x(x—-4) = 2x° - 24 32° - 12x = 5x° - 12x- 2




REF:
081903ai

12
ANS:


[image: image43.png]



REF:
011813ai

13
ANS:


[image: image44.png]6x° +4x2 — 34




[image: image45.png](3 22 - 17)




REF:
081813ai

14
ANS:


[image: image46.png]id




[image: image47.png]@x3)+(@x2d) 3d+4d _7d
Ix3 6 -~ 6




REF:
fall0727ia

15
ANS:


[image: image48.png]15
10




[image: image49.png]2z 3n_dn+lSn 19

Y210 -





REF:
011420ia

16
ANS:


[image: image50.png]L3z
12




[image: image51.png](5xx4)+(6xx) _ 20x+6x_ 26x _13x
Gxd 4 24 12




REF:
060625a

